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1_Nijika or Doritos?
(5 points)

Time Limit: 1 second
Memory Limit: 256MB

Statement

"How to distinguish Nijika's ahoge and Doritos?"

To solve this century-long puzzle, Bocchi decided to analyze them thoroughly. After meticulous observation,
she found that Nijika's ahoge can be represented by a triangle with vertices at

(nz1,ny1), (nz2,nys), (nzs, nys), while Doritos can be represented by a triangle with vertices at
(dz1,dy1), (dza, dy2), (dzs, dys). Furthermore, she discovered that these two triangles are not
congruent. Additionally, to better distinguish between the two, she defined a triangle as "Nijika-type" if it is
congruent to Nijika's ahoge triangle, and "Doritos-type" if it is congruent to the Doritos triangle.

Upon hearing that Bocchi had solved this century-long puzzle, many people still struggled to distinguish
between the ahoge and Doritos. They represented the items as triangles and sought Bocchi's help in
distinguishing them. However, this triggered Bocchi's social anxiety once again. Therefore, she asked for
your assistance in solving these people's problems. For each person's query, if the triangle is "Nijika-type",
please output Nijika, ifitis "Doritos-type", please output Doritos, and if neither, please output None.

Note that the output should match the case specified in the problem description.

Two triangles are considered congruent if they can be transformed into one another by translation,
rotation, and reflection.

Note: Doritos is not sponsoring Youth Turing Program.

Input Format

The first line contains six integers nx1, ny1, nT2, NY2, NIT3, NY3, representing the vertices of Nijika's ahoge
triangle.

The second line contains six integers dx1, dy1, dxo, dys, dxs, dys, representing the vertices of Doritos
triangle.

The third line contains a positive integer g, indicating the number of people querying Bocchi.

The next g lines each contain six integers qx; 1, qyi 1, 9% 2, qYi,2, 9% 3, qYi 3, representing the vertices of
the triangle queried by the i-th person, which are (qz; 1, qyi1), (9Zi 2, qVi2), (qTi3, qVi3)-

Output Format

The output should consist of g lines. Each line should contain a string representing the answer to the %-th
query.

Constraints

e 1<q<1000
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e The coordinates of the points are between 0 and 10°
e The three points of a triangle are not collinear

e The triangle representing Nijika's ahoge is not congruent to the triangle representing Doritos

Test Cases

Input 1

523447
7492115
3
035234
526447
927064

Output 1
Nijika

None
Doritos

lllustrations

The following is an image of the sample test case:
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In the image, yellow represents the Nijika ahoge triangle, orange represents the Doritos triangle, red
represents the triangle of first query, purple represents the triangle of second query, and blue represents
the triangle of third query.
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